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1
WU T REIEARE N x = e (C, cost +C, smt)+(Zcost+ismtje t

6. iEH: Su=2a-t, IJ_IJI f()f'(2a- t)dt—J fQa—u)f'(u)du =
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.. F(2a)-2F(a) = joz“ F(Of (2a—-t)dt—2 jo“ F(Of (2a—-1t)dt
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7. (D [ o ()dx = 1 j f(x)dx = l[xz oI def(x)J _ é[ O ES f’(x)dx} — —é [ @
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1 1 Lo, 1, ’
(2) Eltzgjr\”JEE (D %D[J.Oxf(x)dx} :Z[J.O(x —g)f(x)dx}

RS 1| [6F | s3] o -pra] () as

Jol X (x° _g)z di = 44—5 [ J.:xf(x)dx:lz 34% 01( £(x)) dx

0 E AV 2 o —%= £ S, E] f(x)=%(x3—x)+C

X fO)=0  ~C=0 ﬁ&f(x):é(xB—x) EI]A:%
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1 Eﬁ:limx_ln(lﬂanx) — lim—Llttanx _qi0 cos’ x +sin xcos x zhmtanx(cosx—sinx)

x>0 x° x50 2x ¥0 2x 0 2x(cos x+sin x)
B cosx—sinx 1

0 2(cosx+sinx) 2
x(x+1) x(x+1) b O P
2. lim f(x) = lim = 1):1 lim £ (x) = lim - =-1 ox =0 A BkER AT T A
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lim £ (x) =lim m—XC D ~ox =1 7655 KA W A

=l x(x+1)(x—-1)
lim f(x) = lim ~xx+h 1 sox=—1 ]2 B W
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3. Fx< 0l f'(x)=1;
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1 x<0
EX=0RRITE =]
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f(x)zEe (sinx cosx)+2 f(0)=0 f(7r)—2e +2
f@=ereosx=0mx=2 fE)=e e RN RO
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4 x=4sin6 , mUJEit4onjo54cose-4coseda :6407rj05cos29 =1607°
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x2+C_1
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X—a
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T lim £(x) = 115.1% [ sinede =1im Sg;f - 11553% =0=£(0) ca=0
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1 1 - . \
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ool»—A

3. xy'=y+3x° :>y'—ly=3x flaiky’——y:O:d—y:d—x: Iny=Inx+C,=>y=Cx
X X y X
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F"(x)rfx=i§7£;5ﬁ% mﬁmﬁgﬁamg

3 [ ¥ F s = [ 2xe dxm— ke o 0
J:2x (x)x-J:2 xX‘e x——ge LZ_T
3. /Q“\y,:uljl\uy”:u” y”=uﬂ
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dx e’
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1
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-1 4 17 0 0 O 1
1 1 -4 1 1] 0
A-9E = 16 4 |—>|0 0 =0 r=|1
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